aJ-J

A TMREE S (EPD)
BRES : JR-AI-22181E

at your side

SUMPORRIZESAIITIS A
—WBHEAT RT T TR EREERE
FRETFRBXEBEH2-2-1
https://ecoleaf-label jo

E/9AL—F—EEH
Compact Monochrome Laser All-in—One Printer
with Duplex Printing and Wireless Networking

MFC—-L2690DW ror usa

J5H—T %= / BROTHER INDUSTRIES, LTD.

BEB{u
Hm1EHED

HIEx SR

m %84

Wik

EAARIGEIE, LR, IR, (R - HEHSEIR, UYL REEG

HEDBK, ETEMLE - FEx
B . MFC-L2690DW
-ESRXAI723) (£/P0EPAR)
ARER : 11.5kg. A : 2.2kg
RAAEYAX : A4, Letter
< 2—=){-G33d/&
- B Ehil EENRIHEE
-FRIRLAN
XAHMET7 ) hEmEIITY,
Bu\WwahtEsx
TS -TEHKARM [URE BN SIS S
TEL: 052-824-2511 () FAX: 052-821-5177

https://www.brother.co.jp/

SRES JR-AI-22181E
JEAPCRES PA-590000-AI-04
PCR% BYRA LR (554hR)
VNE|S 20224108198
REEAIEE 2022498308

SRF LIS
REEES JV-AI-22181E
REAIE%HIR 2027498298
PCRLE1—-D=EfE
RERZE 202264818
FER ®F 82
(—REHEEAT R T F TR EHEEHAE)
B=EHIRGIE*
SEMREEE AN S

ISO14025(CHE 2 EARBEERUVT —HF DML UFARSE
CIAEB m 515D

* S RFT LRI ZER I TEBEEADIREIDRS(E. S AT LREETD
EEEEDRAIZ L.

BiRES © JR-AI-22181E


https://www.brother.co.jp/

IaJ-J

SATMIRITES
BIRES : JR-AI-22181E

(EPD)

SUMPORIESANINITOIS A
—MRAEEAD R T T IVIR =S HERE
FREBTRBXEZEH2-2-1
https://ecoleaf-label.jp

O34 TVA DIz EFHlFER

0% 20% 40% 60% 80% 100%
SURZE) IPCC 2013 GWP 100a 260 |kg-CO2eq
izl 0.16 | kg-SO2eq
BRHE 0.012 | kg-Sbeq o
m QR FERZE mQ%E = QA
EQOFER-HHTEE EORE-YYAIIL
PER B ::Mivi a5t OFRMBFEE| QfE Qi |omm . wsEE onx- Y1
SARZE) IPCC 2013 GWP 100a | kg-CO-eq | 2.6E+02 | 9.7E+01 | 4.4E+00 | 8.1E+00 | 1.3E+02 | 2.4E+01
ERIEAL kg-SO.eq | 1.6E-01 || 7.1E-02 | 3.1E-04 | 1.2E-02 | 6.4E-02 | 1.1E-02
BREE kg-Sbeqg 1.2E-02 7.8E-03 1.3E-05 3.4E-05 3.8E-03 5.7E-06
QTAITHAL DA N> BUSDIRE COMPIRUMNE (CRT DHERLE
I5E Bifyy
IEBAETTREER 1.2E+01 kg 35 5 2.4E+00 kg
IEBATRE TR+ — 9.2E+01 kg SuUs 4.9E-02 kg
BAORER 2.6E+01 kg PILEZDO A 7.7E-02 kg
B&ERfeTRILF— 9.9E+01 MJ TDMMERE 0.0E+00 kg
RIKDEE 2.7E-01 m3 TSAFwvo 7.3E+00 kg
dAL 2.4E-01 kg
H5X 6.7E-01 kg
L1 N 1.7E+00 kg
- EROEER 4.6E-01 kg
At 7.3E-01 kg




IaJ-J SUMPOEBIESAIITOIS A
—BHEEAY R T T TR RS

] z’(jgl RIRES (EPD) FREBTFABXEREE2-2-1
e— EixES © JR-AI-22181E https://ecoleaf-label.jo

OHERRCET DENMFH
ERBRMOEESE (S UA)
J7OoSIY (ESRIBHAE) |« BEERER 5. XFE : £48,0001%
EARMERER/(H—> : ITUT No.1F v — b, ENRIFIKIFIRIBEECEFAL. ABRET A DitE

©-1.€DMDRIEREEHR

AREOETEE E FEBPGRD b —RUBGEHRERIE(LISO14001 FEEHRTIB(CTITHNTLE T,

QERUVEZRT—HDERS

IDEA v2.1.3 RUSUMPORIESANILTOJ S ASHREREA v1.10 ZEAUTZ.

®fF%

0 —FHEEDAEF. PCREKUERE - EEMREEZSRLTIIZE,
OLEER(CDWT(E. BE - SERRBICRESINIRMHZ/IZ UIBECUMRHSNEE A,
(Z885EURL : https://ecoleaf-label.jp/regulation/)
Z#ES . JR-AI-22181E



	ｴｺﾘｰﾌ①
	ｴｺﾘｰﾌ②

